b EH (B X]
2025 &£ 2 B 23 B (B)
BHAR BHDCP FTEHIR
HDCPERE:  (58) (%)
fE L
79 1
e

sz BHES B 79k | 4y | GROSS| HDCP | NET

B B HR X 42 42 84| 14.5] 69.5

EEK % E 40 44 84| 13.7| 70.3
ML IRk ALE 43 44 87/ 15.5| 71.5
M |F OCHEKER 40 44 84| 11.5| 72.5
5 |f2H X 47 48 95 21.7| 73.3
6 |[REH FA 49 48 97| 23.5| 73.5
oAE-E 48 46 94| 19.5| 74.5
8 |1 1# 42 46 88| 10.8| 77.2
Ot bmll BRE 45 50 95 17.7] 71.3
106 |'=1& FHEEHR 49 47 96, 18.5| 77.5
11461 [FH) E 44 52 96/ 18.5| 77.5
1261 |&)l FEA 48 48 96, 17.9| 78.1
1361 #% ER 46 52 98| 19.8] 78.2
1461 3Rk 1EA 50 50/ 100| 21.7| 78.3
156 X% B 44 46 90| 11.5] 78.5
1660 £ #BE 48 51 99, 19.7| 79.3
1761 &%)l FE 47 52 99, 19.7| 79.3
186 |FEH H=E 50 49 99| 19.5] 79.5
196 |BE 5 46 50 96, 15.7| 80.3
2045 (ke — 46 50 96/ 15.5| 80.5
216 FEH EX 45 53 98| 17.5| 80.5
2261 | KiE B 48 49 97| 15.5] 81.5
60 EE R 54 55| 109| 26.5| 82.5
2441 B RP 43 58/ 101 18.5] 82.5
2560 |BA R 52 56/ 108| 24.5| 83.5
2660 | HAKXR EF—H 52 58| 110| 25.5| 84.5
216 Ky =E 48 54| 102| 17.5] 84.5
2861 [IUEE K 58 55| 113| 27.7] 85.3
291 &&= 52 51 103| 17.5] 85.5
306z |MIAR =BR 52 58/ 110| 24.5]| 85.5
3L | = BER 49 52| 101 14.5] 86.5
201 EIR BB 48 57/ 105| 17.7] 87.3
334 MEE FE 60 53] 113 25.5 81.5
U = A 49 62 111) 18.7] 92.3
356 B EF 53 63| 116 23.3 92.7
366z /B 3518 62 53] 120/ 21.7 98.3
P-1 JI9S5 9o aNnao57




